FgArea: [0 ]
NC11 P3-6
2025-06-06 (Day 69)




000000
00000
55555

N N — —



VN

2500
2000
1500 ~
1000 ~

500 -



1 0IR

——

0.8
0.4 A

0.6 1

0.2 A

0.0

60

50

40

30

20

10



2500 -

[ ) 1 VI vs Du
° S
4
2000 -
)
°
1500 - P~
'o
1000 - ®
o
500 - .’
”»°
[ 4
0 B T T T T
0 1000 2000 3000 4000




FR

0.6 -
0.5 -
0.4-
0.3
0.2 -



| ©
||||||||||||||||||||||||||||||| ~
| ©
©
| ©
Lo
L ©
<
L ©
(32}
| ©
N
>
e
(]
(%] | ©
—_
—
- O
T T T T T T T T T
o o o o o o o o o
© © < N o [>°) © < N
— — — — —



1 (fgArea = NA)

8000 - —@— ECI*10%
—0— ECO

7000

6000 A

Mo 11
. I

3000

S IV R RS U M

2000




—&— PHI*10%

|

7.54 ~®— PHO

7.0
6.5
6.0
5.9

70

60

50

40

30

20

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BflE | ERMK@E) | EREERH/4R | EREE (/R [RKS R

07:10 273 150.0 2. 583 5| FEAQO7:10 KEFEFE CGRAMEEE)
07:40 273 150.0 2.583 5| FHAC07:40 KEIEFE CGRAFESE)
08:10 273 150.0 2.583 5| FiHAe08:10 KREHIEF (KREAERSE)
08:40 273 150.0 2.583 =|  FiHR@08:40 KREIEF (REEESE)
09:25 273 150.0 2.583 5| FEAe09:25 KENFEFE (RAMEEE)
10:00 273 150.0 2.583 5| FHB@10:00 KEFEF (REAMEREER)
10:35 273 150.0 2.583 =  FiHR@10:35 REIEF (GREERSE)
11:05 273 150.0 2.583 5| FEAe11:05 KEIEFE CGRAMFESE)
11:35 273 150.0 2.583 5 FHAe11:35 KEIEF CGRAMFESE)
12:05 273 150.0 2.583 5| THRe12:05 KENFEF (CGRAEESE)
12:35 273 150.0 2. 583 5| FHAe12:35 KEIEFE CGRAMFESE)
13:05 273 150.0 2.583 5| FHAe13:05 KEIEF CGRAEESE)
13:35 273 150.0 2.583 5| FiHje13:35 REEESF (KREERSE)
14:05 273 150.0 2. 583 5| FEAe14:05 KEIEFE CGRAMFESE)
14:35 273 150.0 2.583 5| FiHRe14:35 REHEFE GREAERSE)
15:05 273 150.0 2.583 5| Tfe15:05 KENIESF (REMERGEE)
15:40 273 150.0 2. 583 5| FEAe15:40 KEIEFE CGRAMFESE)
16:20 273 150.0 2.583 5| FEAe16:20 KEIEFE CGRAFESE)
17:10 273 150.0 2.583 E| THER@17:10 KENFEHE (GRAIMERLEE)
23t 5187.0 (19%) 2850. 0 32 HKEC: 2080.0, PH: 5.6

[E;&REC 7468.0 K5, EiNF{KECAE & M%ER
#[EKECE (1820.0 vs 7468.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-6_0, Day=69 (2025-06-06)
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P3-6

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

05:50 273 150.0 2.583 F  BR1%e05:50 Ba1 (RAERSE)
06:30 273 150. 0 2.583 = {RRi8006:30 B (RAKEE)
07:40 273 150. 0 2.583 E BRi&e07:40 Bz (GRAERSE)
08:45 273 150.0 2.583 (Z=| {Ri%e08:45 Bzl (FAERSE)
09:25 273 150. 0 2.583 FR| 1B2i%@09:25 B3h (kB{EREE)
10:05 273 150.0 2.583 FA| 1B2i%@10:05 B3h (RAB{ERESE)
10:40 273 150.0 2.583 FA| 1BRi%@10:40 B3h (RAERSE)
11:20 273 150.0 2.583 FA| {Ri%@11:20 Bz CGRAERE)
12:05 273 150.0 2.583 FA| 1BRi%@12:05 B3h (RAB{ERSE)
12:45 273 150.0 2.583 FE| 1BRi&@12:45 Bzh (GRAEREE)
13:25 273 150.0 2.583 |Z=| {Ri%e13:25 B (REEZEBE)
14:00 273 150.0 2.583 |Z=| {Ri&e14:00 Bz (REEZEBE)
14:35 273 150.0 2.583 |Z=| {Ri%e14:35 B (REEZEBE)
15:35 273 150.0 2.583 |Z=| {Ri&e15:35 B (REAEZEBE)
16:35 273 150. 0 2.583 |Z=| {Ri&e16:35 Bz (REAEZEBE)
2it] 4095.0 (15)%) 2250.0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (294:135.0), set to 294 ml.
BE X 17 [o] /RECET B B k.

[E;&EC 6925.0 K5, EiIUFARECAER MitER

HE[ERECE (1773.0 vs 6925.0) i35

REREB I HEREC/PHESR R, RIRERIMAEELRTR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=68 (2025-06-05)
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P3-6

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

08:15 273 150.0 2.583 = {RRiB008:15 Bz (RFAEEE)
08:55 273 150. 0 2.583 E  1BRi&e08:55 Bzl (RAERE)
09:40 273 150.0 2.583 5| {Ri%@09:40 Bz (FRAMERSE)
10:25 273 150.0 2.583 =l RRiB010:25 B (REAEESE)
11:05 273 150.0 2.583 =l RRiBe11:05 Bah (REAKEE)
11:45 273 150. 0 2.583 El BRi&e11:45 Bz GRAEREE)
12:25 273 150.0 2.583 =l {Rige12:25 B3 (RAERSE)
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14:25 273 150.0 2.583 E BRige14:25 Bz CGRAERESE)
15:00 273 150.0 2.583 S| {Ri%@15:00 B3 (KRAERSE)
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17:25 273 150.0 2.583 =l 1Rige17:25 B3 (RAERSE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

RE X i [B] TRECHUR SR oK.

[E;&REC 6382.0 K5, EiNF{KECAE&M%ER
#[EKECZE (1780.0 vs 6382.0) 15
REXREBT I HEREC/PHE R K, FIREZINIRAELR R



P3-6_0, Day=67 (2025-06-04)
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P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:50 300 150.0 2.583 S| {Ri%@06:50 F iz (KRAMERSE)
07:35 300 150. 0 2.583 E  BRi&e07:35 Fa1 (RAERERE)
08:45 300 150.0 2.583 5| {Ri%@08:45 F 3 (FAAERSE)
09:40 300 150.0 2.583 S {Ri%@09:40 Fzh (KRAERSE)
10:30 300 150. 0 2.583 E BRi%e10:30 Fz1 GRAERERE)
11:15 300 150.0 2.583 S Ri%e11:15 Fzh (GRAERSE)
11:55 300 150.0 2.583 = RRiB@11:55 Fz (RFEAKEEE)
12:40 300 150. 0 2.583 E BRige12:40 Fz1 CGRAERESE)
13:25 300 150.0 2.583 5| {Ri%e13:25 F (RAERSE)
14:05 300 150.0 2.583 = RRiB@14:05 Fz (RFAEEE)
14:50 300 150. 0 2.583 E BRige14:50 Fz1 CGRAERESE)
15:40 300 150. 0 2.583 El BRi&e15:40 Fzh CGRAEREE)
16:25 300 150.0 2.583 = RRiB016:25 Fz (RFAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

RE X i [B] TRECHUR SR oK.

[El;%EC 6278.0 K15, EiFARECAE & imiERR
#[EKECE (1860.0 vs 6278.0) 15
REXREBT I HEREC/PHE R K, FIREZINIRAELR R
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P3-6_0, Day=66 (2025-06-03)
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P3-6

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:55 273 150. 0 2.583 |Z=| {Ri&e06:55 Bz (REEHSE)
07:35 273 150.0 2.583 = {RRiB007:35 B (RFAEEE)
08:35 273 150. 0 2.583 E|  {Rig@08:35 Bah (RE{ERSE)
09:20 273 150.0 2.583 5| {Ri%@09:20 B3 (FAERSE)
10:00 273 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:25 273 150. 0 2.583 =l Rige11:25 Bz (GRAEESE)
12:15 273 150.0 2.583 =l {Rige12:15 B3 (RAERSE)
12:50 273 150. 0 2.583 =l RRiB012:50 B (REAKEE)
13:20 273 150.0 2.583 (£=| {Ri%e13:20 Bz (REAEDSE)
13:50 273 150.0 2.583 (Z=| {Ri%@13:50 Bz (FRAEHRSE)
14:20 273 150. 0 2.583 |Z=| {Ri&e14:20 Bz (REEZEBE)
14:50 273 150. 0 2.583 |Z=| BRige14:50 Bz (GRAERESE)
15:30 273 150.0 2.583 (Z=| {Ri%@15:30 Bz (RAEHSE)
16:10 273 150. 0 2.583 | =| {Ri%e16:10 Bz (REZBE)
17:00 273 150.0 2.583 |Z=| {Ri&e17:00 Bz (REEZEBE)
Bit] 4368.0 (167%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

R ERRETC (600) 57 EA (268. 0) 14, FIREH T % AREERS %2 X ER
2RI\ L PRIERE336. 0 ml.

[E;&%EC 5960.0 K&, ZEiFHKECAE&IMEER

HEEIRECZE (1907.0 vs 5960. 0) 15
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ET (ml/hr/plant)

P3-6_0, Day=65 (2025-06-02)
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